Lesson 3

The Balochi nominal system, part 2
The verb in the present indicative



The genitive

The genitive expresses the owner or some owner-
like relation. In English this relation is sometimes
expressed by the ‘s-genitive (the girl’s father)

sometimes with the of-genitive (the colour of the
book).

In Balochi the ending -ay is added to a noun to form
the genitive:

mard 2_« > marday =2
l6g K31 > logay L3 etc.



Examples of nouns in the genitive

|6gay darwézag <S50 =53 ‘the door of the
house’

E 16gay darwdzag harab ent. ‘The door of this house
is broken.’

i)l e K5l Kl |
shahray ndam b — % ‘the name of the town’

A shahray nam Pahra ent. ‘The name of that town is
Pahra (Iranshahr, in Western (lranian) Balochistan).’
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more examples

chokkay pet <w 5= ‘the child’s father’

Chokkay pet eda naent. ‘The child’s father is not
here.

N PER R O

jenekay brat &l » K3 ‘the girl’s brother’

Jenekay brat Swidhana/Sueda ent. ‘The girl’s
orother is in Sweden!

) (120 o) U g <l yy S



more examples

gbkay gésht w3 8 S K ‘beef (=cow’s meat)’
Gokay gbésht gran ent. ‘Beef is expensive.

il gl S s R SR
pasay rang < — ‘the colour of the sheep’

Pasay rang syah ent. ‘ The colour of the sheep is
black.’
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Some colour words

syah oLus ‘black’
espét Gl ‘white’

sawz )= ‘green, blue’ (note that the
traditional colour name for green and blue is
one word in Balochi)

zard 2 ‘yellow’
sohr = ‘red’



Back to the genitive

It is possible to have several genitives after one
another:

E jenekay petay ndm Mir Kambar ent. ‘The name
of this girl’s father is Mir Kambar.’
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Combining é and ay

It is fully possible to combine the individuation clitic
=¢ and the genitive ending -ay.

mardeéay ‘a man’s’ i
shahréay ‘of a town, a town’s’ i s

dega badshahéay molk ‘another king’s country’
Sle _ialdaly 480
mardéay log ‘a man’s house’



Genitive plural

In the plural, the ending -ani (consisting of the
obligue ending -an and the genitive ending -i) is
added to the basic form of the noun.

chokk &= ‘child’ > chokkani pet < 5= ‘the
children’s father’

16g ‘house’ S35 > [6gani rang &y S8 31 ‘the
colour of the houses’



Pronouns, review

SG PL
ma W\ ‘we’
mashoma Lile ‘we.INCl

1p. man (=

2p. taw 55 ‘you’ shoma Wi ‘you’

(3p. &) ‘he/she/it’ al ‘they’)



Pronouns are not compulsory

| am a man. (Man) mardé an. .0 «2 .« ((w)
You are a girl. (Taw) jeneké ay. . =) S (5Y)
She is a woman. (A) janéné. . —ia ()
We (but not necessarily

you) are doctors. (M3) dhéakthar én. .csl JiSI3 ()
We (definitely including (Mashoma) dhakthar én.

you) are doctors. Ol RIS Ll
You are sisters. (Shoma) gohdr ét. .l JleS (Lad)

They are brothers. (A) brat ant. .<il & . (1)



Pronouns after prepositions

The basic (unchanged) form of the 1 and 2
person pronoun is used after a preposition.

gdn man = 05 ‘with me’

pa taw 9 4 ‘for you.SG’

cha ma W 4> “from us (but not you)’

gdn mashoma Leile o X ‘with us (including you)’
cha shoma Wi 4a ‘from you.Pl



Pronouns after prepositions

The 3 person pronoun (in fact a demonstrative pronoun
from the beginning) gets a new form (oblique form) when
it is used after a preposition.

3id W ‘him/her/it (that one)’

(also eshia Wil ‘this one’)

ayan o4 ‘them’

(also eshan (L) )

gdn dia Wl o X ‘with him/her/it (that one)’
gén eshia Ldl o R ‘with this one’

pa dyan oLl 4 ‘for them (those ones)’

pa eshan LYl 4 ‘for these ones’



Pronouns as direct objects

When a pronoun is a direct object, it has these
forms:

SG PL
1t mand L mard 'k, mashomara il
2" targ ) shomard | led
3rd 3i3 L ayan oL

(These are the selected standard forms, there are
many variants in different dialects.)



Pronouns as direct objects

Mana gendit. ‘He sees me.” .cuak L

Tara nagendan. ‘I don’t see you.’ Oasa ) 3
Aia genday? ‘Do you see her?’ §_—2a& Ly

Mara nagendét. ‘You don’t see us.” .cuiaka |l

Mashomara nagendant. ‘They don’t see us
(including the addressee(s))’ .cuada | jlaile

Ayana gendén. ‘We see them.” 5K &)Ul



Pronouns in the genitive

When a pronoun is the owner (or in an owner-like
relation, i.e. genitive form), it has these forms:

SG PL

15t mani may —«, mayshomay —wiuic
219 taj shomay i
3rd Jjay ayani 4

(These are the selected standard forms, there are
many variants in different dialects.)



Pronouns in the genitive

mani gohar J&S &« ‘my sister’
tai brat & _» 5 ‘your brother’
diay mat <l il ‘his/her mother’

may eskul JsS —« ‘our (but not necessarily your)
school’

mayshomay eskul JsS —eivia ‘our (and your)
school’

shomay shahr s —es ‘your town’
ayani pet <u U ‘their father’



Present-future indicative of the verb

The present indicative form is used for events
that are REAL, CERTAIN. They may either happen
or not happen, or there may be a question
about whether they are happening or not. They
happen now (present) or in the future. There is
no special future verb form in Balochi, but there
are other ways of expressing something as ONLY
future (not present), which will come later in the
course.



Verb stems

The Balochi verbs have two stems:
present-future stem and past stem

The present-future stem consists of the infinitive
(the form in any dictionary or wordlist) minus -ag.
The past stem is normally irregular and must be
learnt separately for each verb.

E.g. kanag S ‘to do’ (present stem: kan; past stem kot)

rawag <<, ‘to go’ (present stem: raw; past stem: shot)



Present-future indicative

The present-future indicative is formed by:

* Adding -a to the previous word in the
sentence. (If there is no previous word or if the
previous word ends in a and in some other
instances, this -a is not present.)

* Constructing the actual verb form which
consists of the present-future stem + person
endings.



kanag &S ‘to do’

kanan ‘1 do’ QLS

kanay ‘you.SG do’ =S
kant ‘he/she/it does’ S
kanén ‘we do’ (S

kanét ‘you.PL do’ «uisS
kanant ‘they do’ s

For this verb the ending in the 3™ person
singular is -t.




gendag S2X ‘to see’

gendan ‘I see’ oJak

genday ‘you.SG see’ =X
gendit ‘he/she/it sees’ cual
gendén ‘we see’ (il
gendét ‘you.PL see’ cualk
gendant ‘they see’ cual

For this verb the ending in the 3™ person
singular is -it.




barag < _» ‘to take’

baran ‘| take’ o)) _»

paray ‘you.SG take’ —_»
bart ‘he/she/it takes’ <)L
parén ‘we take’ (i

parét ‘you.PL take’ &
parant ‘they take’ & »

For this verb the ending in the 3™ person singular is
-t and the vowel in the stem is lengthened. The 3™
person singular is somewhat irregular for several
verbs.




Negation and question

The verb is negated by adding na- to the verb
form.

nakandn ‘I don’t do’ (LS
nabaray ‘you.SG don’t carry’ —_ etc.

Questions are formed by rising intonation.

e

Raway? ‘Will you go? / Are you going?’ ¥ =)



The full form with the -a added to the

Kara
Kara
Kara
Kara

Kara

Kara

previous word

kanan O D8 ‘I work (lit. do work)’

canay —S L ‘you.SG work (lit. do work)’
cant &S S ‘he/she works (lit. does work)’
canén &S JS ‘we work (lit. do work)’
kanét &S S ‘you.PL work (lit. do work)’

kanant &S H\S ‘they work (lit. do work)’



Some more examples

Taw koja kara kanay? ‘Where do you work?’

¢S JS sS4
Man espéthala (bimarestana) kara kanan. ‘I work in the hospital.
(S DS (Ll jlay) YTl (s
Mani brat Karachia kara kant. ‘My brother is working in Karachi.
i) Lal S
M3 Erdna zendegia nakanén. ‘We don’t live (lit. do life) in Iran.
oSG K5 Ll Li L
Mashoma Swidhana (Sueda) zendegia kanén. ‘We (and you) live in Sweden/
S LR (1 ) Uiy g Ll
Shoma koja zendegia kanét? ‘Where do you live?’
S (R S L
A Pakestana zendegia kanant? ‘They live in Pakistan.
i€ (S LSl |

The red variant is more common in Western Balochistan (Iran), the English loanword in blue
is more common in Eastern Balochistan (Pakistan).
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